INVITATION TO BID FOR THE

SUPPLY AND DELIVERY OF HP, INK CARTRIDGES FOR THE PROCUREMENT

PUBLIC BIDDING NO. 21-077-3

SERVICE

FUNDING SOURCE: PROCUREMENT SERVICE FUNDS

1. The *Procurement Service* invites PhilGEPS registered suppliers to bid for the following items in accordance with the provisions of the Revised IRR of R.A. 9184 on the use of the **Approved Guidelines on the use of a Single Year Framework Agreement (Outright Determination of Lowest Calculated and Responsive Bid) under GPPB Resolution No. 27-2019:**

Lot No.	Item No.	Quantity	Item/Description	Approved Budget for the Contract		Price of Bid	Delivery Period
110.	110.			Unit Price	Total Price	Documents	1 01100
	1	4,747 Cartridge	INK CARTRIDGE, HP C2P04AA (HP62), BLACK	₱851.00	₱4,039,697.00		Please refer to Section VI. Schedule of
1	2	4,195 Cartridge	INK CARTRIDGE, HP C2P06AA (HP62), TRI- COLOR	₱1,046.00	₱ 4,387,970.00	₱1,000.00	Requirements (Framework Agreement List)

TOTAL LOT 1: ₱8,427,667.00

	1	7,466 Cartridge	INK CARTRIDGE, HP C9351AA (HP21), BLACK	₱875.00	₱6,532,750.00		Please refer to Section VI. Schedule of
2	2	6,895 Cartridge	INK CARTRIDGE, HP C9352AA (HP22) TRI-COLOR	₱1,013.00	₱6,984,635.00	₱2,000.00	Requirements (Framework Agreement List)

TOTAL LOT 2: ₱13,517,385.00

	1	1,455 Cartridge	INK CARTRIDGE, HP C9397A (HP72) 69ML PHOTO BLACK	₱2,197.00	₱3,196,635.00	₱2,000.00	
	2	1,648 Cartridge	INK CARTRIDGE, HP C9398A (HP72) 69ML CYAN	₱2,197.00	₱3,620,656.00		Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
3	3	1,684 Cartridge	INK CARTRIDGE, HP C9399A (HP72) 69ML MAGENTA	₱2,197.00	₱3,699,748.00		
	4	1,617 Cartridge	INK CARTRIDGE, HP C9400A (HP72) 69ML YELLOW	₱2,197.00	₱3,552,549.00		
	5	1,348 Cartridge	INK CARTRIDGE, HP C9401A (HP72) 69ML GRAY	₱2,197.00	₱2,961,556.00		

TOTAL LOT 3: ₱17,031,144.00

4	1	1,118 Cartridge	INK CARTRIDGE, HP C9403A (HP72) 130ML MATTE BLACK	₱3,318.00	₱3,709,524.00	₱1,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
5	1	11,526 Cartridge	INK CARTRIDGE, HP CC640WA (HP60) BLACK	₱847.00	₱9,762,522.00	B 2 000 00	Please refer to Section VI. Schedule of
	2	9,031 Cartridge	INK CARTRIDGE, HP CC643WA (HP60) TRI- COLOR	₱1,007.00	₱9,094,217.00	₱2,000.00	Requirements (Framework Agreement List)

TOTAL LOT 5: ₱18,856,739.00

	1	7,267 Cartridge	INK CARTRIDGE, HP CD887AA (HP703) BLACK	₱403.00	₱2,928,601.00		Please refer to Section VI. Schedule of
6	2	5,617 Cartridge	INK CARTRIDGE, HP CD888AA (HP703) TRI- COLOR	₱403.00	₱2,263,651.00	₱1,000.00	Requirements (Framework Agreement List)

TOTAL LOT 6: ₱5,192,252.00

	1	1,393 Cartridge	INK CARTRIDGE HP CD972AA (HP920XL) CYAN	₱792.00	₱1,103,256.00		
	2	1,402 Cartridge	INK CARTRIDGE, HP CD973AA (HP920 XL) MAGENTA	₱792.00	₱1,110,384.00	₱1,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
7	3	1,436 Cartridge	INK CARTRIDGE, CD974AA (HP920XL) YELLOW	₱792.00	₱1,137,312.00		
	4	1,570 Cartridge	INK CARTRIDGE, HP CD975AA (HP920XL) BLACK	₱1,482.00	₱2,326,740.00		

TOTAL LOT 7: ₱ 5,677,692.00

	1	3,202 Cartridge	INK CARTRIDGE, HP CH561WA (HP61) BLACK	₱832.00	₱2,664,064.00		Please refer to Section VI. Schedule of
8	2	1,681 Cartridge	INK CARTRIDGE, HP CH562WA (HP61) TRI- COLOR	₱1,025.00	₱1,723,025.00	₱1,000.00	Requirements (Framework Agreement List)

TOTAL LOT 8: ₱4,387,089.00

9	1	1,166 Cartridge	INK CARTRIDGE, HP CH565A (HP82) BLACK	₱2,195.00	₱2,559,370.00		Please refer to
	2	1,276 Cartridge	INK CARTRIDGE, HP CH566A (HP82) CYAN	₱1,693.00	₱2,160,268.00	P1,000.00 Schedul Requirer (Framev	Section VI. Schedule of Requirements (Framework
	3	1,184 Cartridge	INK CARTRIDGE, HP CH567A (HP82) MAGENTA	₱1,693.00	₱2,004,512.00		Agreement List)

4 1,334 CARTRIDGE, HP Cartridge CH568A (HP82) YELLOW	1,693.00	₱2,258,462.00		
--	----------	---------------	--	--

TOTAL LOT 9: ₱8,982,612.00

	1	1,665 Cartridge	INK CARTRIDGE, HP CN045AA (HP950XL) BLACK	₱1,966.00	₱3,273,390.00		
	2	1,395 Cartridge	INK CARTRIDGE, CN046AA (HP951XL) CYAN	₱1,459.00	₱2,035,305.00	₱ 1,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
10	3	1,327 Cartridge	INK CARTRIDGE, HP CN047AA (HP951XL) MAGENTA	₱1,459.00	₱1,936,093.00		
	4	1,325 Cartridge	INK CARTRIDGE, HP CN048AA (HP951XL) YELLOW	₱1,459.00	₱1,933,175.00		

TOTAL LOT 10: ₱9,177,963.00

11	1	46,244 Cartridge	INK CARTRIDGE, HP CN692AA (HP704) BLACK	₱403.00	₱18,636,332.00	₱4,000.00	Please refer to Section VI. Schedule of Requirements
	2	39,040 Cartridge	INK CARTRIDGE, HP CN693AA (HP704) TRI-COLOR	₱403.00	₱15,733,120.00	F4,000.00	(Framework Agreement List)

TOTAL LOT 11: ₱34,369,452.00

12	1	62,299 Cartridge	INK CARTRIDGE, HP CZ107AA (HP678) BLACK	₱403.00	₱25,106,497.00	B 5 000 00	Please refer to Section VI. Schedule of
12	2	51,728 Cartridge	INK CARTRIDGE, HP CZ108AA (HP678) TRI-COLOR	₱403.00	₱20,846,384.00	₱5,000.00	Requirements (Framework Agreement List)

TOTAL LOT 12: ₱45,952,881.00

	1	2,708 Cartridge	INK CARTRIDGE, HP CZ121A (HP685A) BLACK	₱343.00	₱928,844.00	- ₱1,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
12	2	1,947 Cartridge	INK CARTRIDGE, HP CZ122A (HP685A) CYAN	₱283.00	₱551,001.00		
13	3	1,924 Cartridge	INK CARTRIDGE, HP CZ123A (HP685A) MAGENTA	₱283.00	₱544,492.00		
	4	1,940 Cartridge	INK CARTRIDGE, HP CZ124A (HP685A) YELLOW	₱283.00	₱549,020.00		

TOTAL LOT 13: ₱2,573,357.00

14	1	25,044 Cartridge	INK CARTRIDGE, HP F6V26AA (HP680) TRI-COLOR	₱446.00	₱11,169,624.00	₱3,000.00	Please refer to Section VI. Schedule of Requirements
14	2	29,019 Cartridge	INK CARTRIDGE, HP F6V27AA (HP680) BLACK	₱446.00	₱12,942,474.00	13,000.00	(Framework Agreement List)

TOTAL LOT 14: ₱24,112,098.00

15	1	1,744 Cartridge	INK CARTRIDGE, HP L0S51AA (HP955) CYAN ORIGINAL	₱1,096.00	₱1,911,424.00	₱1,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
	2	1,614 Cartridge	INK CARTRIDGE, HP L0S54AA (HP955) MAGENTA ORIGINAL	₱ 1,096.00	₱1,768,944.00		
	3	1,595 Cartridge	INK CARTRIDGE, HP L0S57AA (HP955) YELLOW ORIGINAL	₱1,096.00	₱1,748,120.00		
	4	1,713 Cartridge	INK CARTRIDGE, HP L0S60AA (HP955) BLACK ORIGINAL	₱1,470.00	₱2,518,110.00		

TOTAL LOT 15: ₱7,946,598.00

	1	2,703 Cartridge	INK CARTRIDGE, HP L0S63AA (HP955XL) CYAN ORIGINAL	₱1,334.00	₱3,605,802.00	₹2,000.00	Please refer to Section VI. Schedule of Requirements (Framework Agreement List)
	2	2,581 Cartridge	INK CARTRIDGE, HP L0S66A (HP955XL) MAGENTA ORIGINAL	₱1,334.00	₱3,443,054.00		
16	3	2,635 Cartridge	INK CARTRIDGE, HP L0S69AA (HP955XL) YELLOW ORIGINAL	₱1,334.00	₱3,515,090.00		
	4	2,738 Cartridge	INK CARTRIDGE, HP L0S72AA (HP955XL) BLACK ORIGINAL	₱1,809.00	₱4,953,042.00		

TOTAL LOT 16: ₱15,516,988.00

17	1	1,235 Cartridge	INK CARTRIDGE, HP T6L89AA (HP905) CYAN ORIGINAL	₱499.00	₱616,265.00	
	2	1,259 Cartridge	INK CARTRIDGE, HP T6L93AA (HP905) MAGENTA ORIGINAL	₽ 499.00	₱628,241.00	
	3	1,248 Cartridge	INK CARTRIDGE, HP T6L97AA (HP905) YELLOW ORIGINAL	₽ 499.00	₱622,752.00	₱1,000.00
	4	1,392 Cartridge	INK CARTRIDGE, HP T6M01AA (HP905) BLACK ORIGINAL	₱816.00	₱1,135,872.00	

TOTAL LOT 17: ₱3,003,130.00

Bidders should have completed, within *five* (5) years prior to the date of submission and receipt of bids, a contract similar to the Project.

2. The summary of the bidding activities is as follows:

Advertisement/Posting of Invitation to Bid	28 July 2021		
Issuance and Availability of Bid Documents	28 July 2021		
Pre-Bid Conference	04 August 2021; 1:30 P.M.		
Last day of Submission of Written Clarification	6 August 2021		
Last day of Issuance of Bid Bulletin	11 August 2021		
Deadline for Submission	18 August 2021; 1:30 P.M.		
Opening of Bids	Immediately after the Deadline of Submission of Bids		

3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.

- 4. Interested Bidders may obtain further information from the Procurement Service and inspect the Bidding Documents through the BAC Secretariat (Procurement Division VI) at PS Complex, Cristobal St., Paco, Manila during Mondays to Fridays, except holidays, from 8:00AM to 4:00PM.
- 5. A complete set of Bidding Documents may acquired by interested bidders from the BAC Secretariat (Procurement Division VI) and upon payment of a non-refundable fee in amounts pursuant to this Invitation. The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

It may also be downloaded free of charge from the websites of the Procurement Service – DBM (PS-DBM) and PhilGEPS, provided that Bidders shall pay the non-refundable fee for the Bidding Documents not later than the submission of their bids.

6. The Procurement Service will hold a Pre-Bid Conference on **04 August 2021**; **1:30 P.M**, which shall be open to all interested parties. Pursuant to the health and safety protocols issued by the Inter-Agency Task Force for the Management of Emerging Infectious Diseases, the scheduled meeting may be accessed through this link: https://meet.google.com/jea-bihh-eno via Google Meet.

7. Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below on or before 18 August 2021; 1:30 P.M.

Late bids shall not be accepted. Unsealed or unmarked bid envelopes shall also be rejected.

- 8. All bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on **18 August 2021**; **10:00 A.M** at PS Conference Room, Procurement Service, Cristobal St., Paco, Manila. The scheduled meeting may be accessed through this link: https://meet.google.com/wck-gigz-ofk via Google Meet. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. Bidders shall drop their duly accomplished eligibility requirements, technical and financial proposals in two separate sealed envelopes in the designated bid box located at the 2nd Floor of the Procurement Service.
- 11. The Procurement Service reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 12. For further information, please refer to:

Bids and Awards Committee III

Procurement Service RR Road, Cristobal St., Paco, Manila 8290-6300 pd6@ps-philgeps.gov.ph

SGD.
JAIME M. NAVARRETE, JR.

Chairperson, Bids and Awards Committee III